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a.

Time: 3 hrs.

2a.

a.
1

List the performance faclors alLd y-tam attributes. Explain..how performance factors are

influenced by system attributesq $'*:=' ;*. (08 Marks)

What are the conditions of pa$flelism? Explain the types df"dhta dependence. (06 Marks)

With a neat diagram, expl4irfudthe levels of parallelisrrtr'in program execution on modern

computers. 
,, S \ * (06 Marks)

** 
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Consider the exec{iqffof an object code with 2 x 706 instructions on a 400 MHz processor.

b.

c.

Consider the exec{iqffof an object code with 2 x 706 instructions on a 400 MHz processor.

The program cgmr$ts of four major typ=e_q-4f. instructions. The instruction mix and the

number of cyc{eS,€PI) needed for each in=itffition type are given below based on the result

of a prograrri'ftScB experiment.

Consider the exec$[qiriYof an oblect c0

The program cgmrHts of four major
number of cvcleH(CPI) needed for ea<

D Calculate the averpffiSPI wtren the progrftffi executed on a iiiriprocessor with the

above trace resultsfli , ,::r. ,!
ii) Calculate the*coribsponding MIPS rdth&a$ed on the CPl+btained. (07 Marks)ii) Calculate the*coribsponding MIPS rdth&,4$ed on the CPl+btained. (07 Marks)

b. Explain the archtthtur. of lo..tir sup,er egn'$uter with a neat diagram. (07 Marks)

c. Discuss in deffil-:,L i) UMA modg! ii) NUMA m.odej ="ii1 COMA model. (06 Marks)
*& d'(W\ *!..

a. Explain tfue dlchitecture of VLIW processor and its pip8{ine operations. (08 Marks)

b. Distiqgpi#between typicaffisCfand CISC proiessor architectures. (06 Marks)

c. Witht;sti&t diagrarq exntgiirlhe hierarchical mq$6'ry technology. (06 Marks)

,,:::ir t"@WT9#' :.\-
a. -*EXplain Inclusion, CphgrCfibe and Localft1i-pffierties. (06 Marks)

p,5lfieny explain the {irtual memory modelffir multiprocessor system. (06 Marks)

bflffWittr a diagram,ffiplain a typical srlperscalar RISC processor architecture consisting of an

integer unit and Snoating point unffi. (08 Marks)
, .. i.#" ,,:,,,, t ?:.:,::::::+4

a. Explain bfiifuditration and its types in multiprocessor systems. (08 Marks)

b. Exptain PreGtch buffer an(Inibrnal data forwarding mechanism used in instruction
pipelining. b \c. Explain Sequential anddilfrdik consistency models.

a. Explain with diag-fq.m:'the Backplane bus specification.
b. Explain multrp.lffi*ffIbline design to multiply two 8 bit integers

X= 10110101"{T, Y= 10010011.
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c. For the reservation table of a non linear pipeline sho
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iil) List all simple cycles and greed,focycles. ,* $

ivi Determine iufal.. d% *ry @, (08 Marks)

d%,, W" di*"ovdqq,: W. P" \
* * o w,'p"

a. Explain briefly different vecffiffresess memory schemes. * *" (06 Marks)

b. Exptain four iontext swilpfrfuffiohcies. &* # (08 Marks)

c. Explain routing in Omgga +6twork. *Y'u (06 Marks)
Y -r- .)'

* _-;6-\_- ____ **}&,-r& w;l
(10 Marks)a. Explain Snoopy pqto,coti, with its approaches- #q. L^yLsEL -rr--------- #

b. Wittr a diagranl*ffiin the architecture of Fqcbnnection machine CM - 2. (10 Marks)
fl i; m* *S:e

*# # 'e.Y$fl
a. Explain the fairheis policies and sole acd$'S'protocols in the principles of synchronization.- *&* ) $. (07 Marks)

d*"Wjt . -d. r, .r*s qQ6**t _ -r$r

b. What m$th,i*-u:or hurdles ofpip.gfugrg? Illustrate the brgpch hazards in detail' (07 Marks)

c. oenqffiarHlel irogrammlrg qiffi Explaur any 2,"ffi (06 Marks)
g'l]&

ql.: "S

i) What are the forbidden latencies?

ii) Draw the state transition diagram.
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a. What are the issues in using shhred variable *9a_ffi -ry (07 Marks)

b. With the help of a neat diagmnr, explain compild$Qn phases in code-ggnerator. (07 Marks)

c. Explain different langu$g{'ftatures for parffiliun-' . ''' (06 Marks)
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